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About Walking Steadiness

This is an estimate of your stability
while walking. iPhone calculates
Walking Steadiness using your walking
speed, step length, double support
time, and walking asymmetry data
that’s stored in Health. This provides a
sense of the way you walk.

-

Summary

Highlights

1 LOL Chote

stero

Your recent LDL Cholesterol result was
lower than the previous result.

You burned an average of 959 calories
a day over the last 7 days.

W Heart Rate: Recovery

In the 3 minutes after your last workout,
your heart rate went down by 21 beats
per minute,

H, 25 59
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